0002084275197999

&o0—O =EXE OO o'.>>-

2015 4 [E2 45 5 3 F

3| f()=e1—JT (x20)%2FX5. UTOMWIEZX L.

(D) f(x)20&mt. FAESHWHRILTDEDE r DfEE KD K.
(2) iy = f(x) & 2B LT y ETHENAZBEEEZ x MO EHVIZ 1 FIEL TT ¥ 2 EiRkO AR % R
O &.

() T=4x (20) ¢ 0T Fy et TELIEnE J(t) LT3t

9(t)= et~ '-t (rtzo

[t]o]|1
g/(.t)._- e'f'—l - I s-E'ﬂ = |0 i
96)|| & yjol|?

S 81t)1= 0 %3 9 T=

hotéIRE 5) T200eT Q)20 FImulztsl

Thhs f)20 (1200e%) T, TEMLIT x=1 @ .
4=700

@& Y=t a 77138 05 13%3

Y= j;(eﬁ" 4z ) dx

‘t:ﬁ EH 0T g#-@g*?ﬁ?&
...J.-L Xy o—1
it= 3% fhoay

Vs n[; (et'-¢ ) 2t dt

T J‘ 2t (et 2-gtet™ +t%) 4t
0

/ | 2 N !
2x5:t(‘;e‘f‘2) at —awcgot (et")dt + 27:[0 t dt

1! { o _F T !
'Lty —m[tze‘f '] +4n jozt(e* Yt +ox ] £ ],

0

[t et ?]] -on

= ek 1 o 1S
= 2L - [Lext2]] -am +an]2te” ], -4n | 2etdt + 27 7
=5 1
= -T (k- gx) ~4m t8n —gx[et ], T
5 !
= T+ gm )




